
X[3] <= 6.5
mse = 33381.9581
samples = 11643
value = 191.2188

mse = 1546.9453
samples = 3336
value = 32.2599

True

X[0] <= 0.49
mse = 31944.1778

samples = 8307
value = 255.0549

False

X[6] <= 0.5
mse = 19506.9155

samples = 3729
value = 177.9265

X[6] <= 0.5
mse = 33282.4034

samples = 4578
value = 317.8796

mse = 9064.156
samples = 1926

value = 127.8567

X[3] <= 19.5
mse = 25123.3571

samples = 1803
value = 231.4121

X[7] <= 0.5
mse = 27040.1982

samples = 1360
value = 265.0574

mse = 5094.6082
samples = 443

value = 128.1219

mse = 29805.8094
samples = 690

value = 326.6319

mse = 16266.2768
samples = 670

value = 201.6448

X[3] <= 20.5
mse = 17027.5509

samples = 2214
value = 246.9386

X[3] <= 20.5
mse = 39378.313
samples = 2364

value = 384.3194

mse = 17189.5417
samples = 1853

value = 267.3416

mse = 3091.3241
samples = 361

value = 142.2105

X[3] <= 15.5
mse = 38413.2261

samples = 1968
value = 419.9187

mse = 6576.4171
samples = 396

value = 207.4015

mse = 27974.2298
samples = 1177
value = 350.181

mse = 35941.7167
samples = 791

value = 523.6877


